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camdstdn> -=> 18N’ {180}
MdANEdIN> = r#490 <doua> B G T4 NI
< faurtn> --> fouily | Tty
R null _{null}
cafuDauiia> —-> D <l autias | ¢ 1 Daudian’ )
CRIAUAANTATIAFID —> Hageadae [ERCENTLENII
AR LD —— L Co )
AvRNtURRY> =D FrudeN udnez> CudRS’)
ELRY > <HAAN3> < ARNAD | i’}
- CHAANS> U ARG & wmsu’)
- b1 { null )}
<UFARN3> --> hn <930n5)> ) Ciinry
CuFAN4> —->  rdmiy <fwad> O dmiuy
__)' null v { null )}
<CHARANGD ~=> amEy Cnah ISE MUGITES
<UHANG> > AR’ <518n155 | '0a’)
B 4 null _ { null )}
<318n19> -=> LRETUIU L AN {Lanaﬁudulﬁu}
Hna> — <express>{) 0 D, (7 {NUBERIC,STRING,
FIELD }
{express> —-> <land><lors>{’M4’,’ (’ ,NUMERIC,STRING
| ,FIELD }
<{land> -=> {lpart><lands> {’(’,NUMERIC,STRING,
FIELD }
{lors> -=> 'w30’ <lors> | {'n3n’)
-—> null { null )}
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<lands> -=> ‘uar’ <lands> {’ure’}
-=> null | { null )}
<lpart> -=> "™MA’ <rexp> £70)
--> {rexp> {’(’,NUMERIC,STRING,FIELD}
{rexp> -=> <term>(expréses>{’(’,NUMERIC,STRING,
FIELD }
{expreses> %—) <pelop>{term><{terms>{ '>’,’'<’,’=","¢>"’
JIO=T, K=Y
- null® ' { null }
<term) o 4 (factor><terms>{’ (', ,NUMERIC,STRING,
FIELD }
<factor> —=> | (subfact>&factors>{’(’ ,NUMERIC,STRING,
fIELD } |
{factors> -=> {mul-op><{factors> {=,771)
> null { null }
{subfact> - <papt><subfacts>{’(’,NUMERIC,STRING,
FIELD }
{subfacts>’ =-)> <expo-op><{part><{subfacts> { 'xx’ )
—=> null ¢ null }
{part> == V(e <expréss> i o ¢ )
| | --> . NUMERIC { NUMERIC )
-=> STRING { STRING )
-=> FIELD { FIELD )
ardauiey - ‘UM’ Cufny
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/% cfree.c Start 2-20-86 date 4-21-86%/
/*For test context free command/
finclude <stdio.h>

#include <{declare.h>

#include <thaitab.h>

#include <message.h>
- main() o
{

int len,mlen,stcou=0,m,n;

int st,end;

char toke,*stphlk();

char line[MAXLINEJ}s

char xs,xt; . )

/% initialize system vars. %/
datarr[0].dst = 04
cjarrl[0]l.cjst =.0;
itgarr{0).itgst =.0;

datptr = datarr;

/*save function addressx*/
tok_add[0l=&quit; tok addl{ll=&create;
tok_add[2]=&use; tok_add[31=&spec;
tok_add[4}=%&append! tok addliB5l=%&list;
tok_add[6]=8%edit; tok addi7]l=&delete;
tok_add[8]=&delf; tok addi9l=&copy;
tok_add[10]=&reporti tok_addll1i)=&go_to;
tok_add[12] =\&close_fil,tok_add[14]=8&clear, .
tok_addl16] &help

clscr();
setcur(page,1,0);
tprint(mes16);
tfeed();
while(cquit==1)
{ .
t = qgbuff;
+4t 3
®*(t-1) =[STs
accept(”.” ,MAXLINE,t);
tfeed();
s=stpblk(t);
strepy(t,s);
mlen=strlen(t);
if (mlen > 0)
{
if (stoke(&gbuffl1l,&end,&toke) == 0)
{ .



strcpy(&gbuffl1]l,&qgbufflend+11);

s = stpblk(&qbuffl11); /xskip white spacex/
strcecpy(&gbuffl(1l},s);

if(toke >= 70 && toke < 100)
go(tok_add{toke-701);

else

csent();

else

{

csent();

}
} ,
/*end of main »/
go(fadd) -
int (*fadd)();
{ .
(*xfadd)();
}
quit()
{
clos_all();
cquit = 0;
} .
del f()
{

)
copy()
{

)
delete()
{

}
report()

printf(”Delefe file¥n¥n¥n”):
printf(”Copy command¥n¥n¥n");
printf(”Delete command¥n¥n¥n");

printf(”"Report command¥n¥n¥n");
) .
“clear()

{

clser();

setcur(page, 1,0);
)]
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help()
{
int i = 0,p=0;
char *t,cl,c2;
clear();
t = hmeslpl;
while(xt !'= '¥0°’)
{tprint(t);
++p;
++i;
if(i == 8) |
{i = 0; j
cl

tfeed();
t = hmeslip

}
} .
space(str, len
char *str;
int len;

{

5 __'

s
%Y

T

b
(R

iha Lx

while(len-->0)
®xstr++ = ' '

*gstr = '¥0’;
>

pagecal (recle
int reclen; =

{ int ps=512,re
int i = 1;

mrem = ps—(pzﬂreclen “reclen,;

ps = ps+H512;

while(i++ <= 17 )y
{rem ﬁ
if(mr

LEUEMMERINGINT
RHasdh Il Ingae

return(0);
While(*p++ i = 9¥0’);



--p;

while(xp ==

‘n

AULINENINYINS
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/%*Cffunc.c 3-7-86 today 4-24-86x%/
#include <extern.h>
create()
{
char %p,%q,c,ec,row,col,cmd,cof,fnm[3], flg,
int i=0,x,fn,j,mi, reclen,
char *stpblk();
if(fsttablO0].fnumf0]!="%0')  /%*Have current file?x/
{tprint(mes8);
tfeed(),
return(1);)
a = &gbuffl[1];
if(xq '= ’¥0’)
{
®*(q+8) = '¥0';
strcpy(fil_name,q):}
else
{accept(mes3, 11, &fil nane);
tfeed()s ’
q = stpblk(&fll_name);
if(*xq=="¥0")
return(1);)
strcpy(fil name,q).
trim(fil_name);
strecpy(st_file,fil_name);
strcat(fil_name,fil _ext);
strcat(st_file,st _ext): '
clscr(); '
clrget(); ,
say(mes1,1,0,0x70);
say(mes2,3,0,0x0f);
row = 2;
mi = O;
¢ = RET;
/*Reset value:fn = 1,i=1%/
while(c != 23) /x"Wx/
¢ ,
fn'="1/4+7;
if(fn <10)
p = &fnml1];
else
p = fnm;
x=stci_d(p,fn,6);
if (fn<10)
faml0Ol = ’0’;
fstp = &fsttablfn-11];

f



J = i-(i/4)%4;
/*Move cursor to next item*/
if((c == RET ! (¢c == 0 && ec == 80))&&i<56)
++1i; ' .
if( c == 0 && ec == T2 && i > 1) /*Arrow up*/
-—-1,
if(i > mi && 1 <= 53)
{ mi = i+3;
if(i == 29)
{row = 2, J
say(mes2,3,38,0x0f) ;)

row = rowt3,;
Sif(i <= .28) ‘
~ cof = 0,7/ xCollunn offset*/
else L 4
cof = 389 e

say(fnm,row,cof,0x0f);
strcpy(fstp-2fnum, fom) &
space(&fstp->fname, 15) ;
/*get(row,col,gpage,str,dec,typ,clr,bch,l,r,len)x/
get(row,cof+3,0,&fstp-2>fname,0,’C’,
0x70, ’¥0’ ,cof+3,cof+17,15);
space(&fstp~>ftyp,1); :
get(row,cof+20,0,&fstp->ftyp,0,'C’,
0x70,'¥0’ ,cof+20,cof+21,1);
space(&fstp->flen,3);
get(rowscoft23 0 2fstp >flen O ,«N°’,
0x70,¥0’ ,cof+23,cof+25,3);
space(&fstp—->fdec,1);
get(row,cof+28,0,&fstp->fdec,0,'N"’,
0x70, '¥0',cof+28,cof+29,1);
/*space(&fstp->fkey,1);
get(row,cof+34,0,&fstp>>fkey,0, 'N’,
0x70,’%0’ ,cof+34 ,cof+35, 1) %/
vread(i-1,&c,&ec,&flg);
++fstp.
fstp—2>fnumi(0] = '¥0’";

}
else
vread(i-1,&c,&ec,&flg);
}
cl

= pcl; /%*set picture colorx/

bg = pbg; : .
/*skip blank,and cal. record length/
reclen = 0;

fstp = fsttab;:
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- while(fstp->fnum{0] !'= ’¥0’)
{ p = fstp—>fname;
g = stpblk(p);
strepy(p,q);
trim(p);
if(xp == '¥0’)
{fstp—>fnum{0]
++fstp;
fstp->fnuml0]
else
{x = stcd_ilfstp->flen,&i);
reclen = _reelen+i;
++fstp;)

]

‘EOI

i

i ALY )

)
/*Create data file*/
reclen = reclen+é; :
file_buf.rec_len = reclen; ,
file_buf.pagelsiz = pagecal(reclen);
file_buf.ndx_cnt = 1;
file_buf.key_huf[O].key_pos =
file_buf.key_buff0] .key len = 5;
file_buf.key _bufl[0].key flag = MOD!DUP;
stat = btrieve(B CREATE.pos blk &file_buf,fil_name, 0),
if(stat !'= Q) :
{tprint(mes4);
tfeed();
fsttab[O].fnumf[0] = '¥0’;
return(1);} '
/*Create structure filex/
file_buf.rec_len = STSIZ;
file_buf.page . siz = pagecal(STSIZ),
file_buf.ndx_cnt = 1;
file_buf.key. bufl0).key_pos T
file_bufikey buf[0].key len 3;
file_buf . key_buf[0).key_flag = MOD:!DUP;
stat = btrieve(B_CREATE,pos_blk, &file_buf,st_file,0);
if(staty += .0)
{tbrint (mesd);
tfeed(); ,
- fsttabl[O].fnum{Ol='%0":
return(1);)
' /*0Open structure filex/
if(open_st() '=0)
{tprint(mes4);
tfeed();
fsttab[O).fnum[0] = *¥0’;



return(1);} .
/*Insert data to structure filex/
fn = 0;
while(fsttablfn]l.fnum[0O) != '¥0’)
{fstp = &fsttablfnl;
strcpy(st_buff.fnumb,fstp->fnum);
~strcpy(st_buff.fnameb, fstp->fname);
strcpy(st_buff.ftypb,fstp->ftyp);
strcpy(st_buff.flenb,fstp->flen);
strcpy(st_buff.fdech,fstp->fdec);
st_stat = btrieve(B_INS,st _pos,&st_buff,st_kbuff,0);
. ++fn;)
/%Close structure filex*/
if(close_st()"=.0)
{tprint(mes4);
tfeed(); :
fsttab{O0lifnum(O]="%0";
return(1);) N '
/*set file struct to empty*/
fsttabl[O).fnumiOl] = %0’
. .
use() A
{ ‘ o2 M4
char *p,*q,c,ec,row,col,cmd,cof,fnm(3];
int i=0,x,fn,j,ni,reclen; =
char *stpblk();
fstp = fsttab,
if(fstp->fnunf0] != '¥0’)
clos_all();
a = &gbufff{1]l;
if(xq '= *¥0")
¢
*(gt+8) = '¥0’;
strcpy(fil_name,q);}
else :
{accept (mes3 ,1 1, &fil. name ) ;
tfeed ()
g = stpblk(&fil_name);
if(*xq=="¥0")
return(1);
strepy(fil_name,q);)}
trim(fil_name);
strcpy(st_file,fil_name);
strcat(fil_name,fil_ext);
strcat(st_file,st_ext);
if(open_all() !'= 0)

92



{tprint(mes5);
tfeed();
clos_all();
return(1);)
/*Read struct to structure buffx/
read_st();
space2(data_buf,1024);

stat = btrieve(B_GETLW.pos_blk,data_buf,key,O);

if(stat == EOF_ERR)
eof _flg = 'T’;
else :
eof _flg = 'F’y

)

/%List structure Commandx/
spec()
{char row,col,cof),mrow;
int i,x,fn,reclent
cl = pcl;
bg = pbg;
fstp=fsttab;
if(fstp->fnuml0] == *¥0’)
{tprint(mes7);
tfeed();
"return(1);)
clscr();
reclen = 0;
row = 2;
cof 0;
mMrow .= row; /* max. row %/
. while(fstp->fnum[0] '= *"¥0")
A
say(fstp~>fnumsrow,cof+0,0x0f);
say(fstp-“>fname’ row,cof4350%0F) ;
say(fstp->ftyp,tow,cof+21 [JOxOF ).;
say(fstp->flen,row,cof+23,0x0f);
say(fstp->fdec,row,cof+27,0x0f);
X _Fisted i(fstp—->ften,&i);
: reclen’= reclen+i]
row=row+3;
if(row > mrow)

{
!

mrow = row,

if(row > 20)
{row = 2;
cof = 38;)

++fstp;

}
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setcur{(page,mrow+3,0);
tprint(mesl19);

printf(” %¥d¥n¥n¥n”,reclen+6);
} ,

/*Close commandx/

close_fil() '

{

clos_all();

fsttabl{O0].fnuml(0]l = ’'¥0';
} .
/*Append command*/

append() , '

{int len,len2,frn, ufn,row,i=0; /%fn = field number,mfn = max.

char c,ec,pg,bf,vecnun{61, *p, loop=1,flg;
unsigned power=1;
“if(fsttabl0]) fnuwl0] /== ’%0°’)
{tprint(mes7):
tfeed();
return(0) ;)
/%Get highest record numberx/
stat = btrieve(B_GETHT,pos _blk,data_buf ,key,0);
p = &data_bufl(4]; ’
cur_rec = 0;
if(stat == 0)
{while( i++ <= 5)
{if(*p >= "0’ & *p <= ’'97) |
cur_rec = cur_rect(x(p--) - ’'0')¥power;
power = power*i0;}

-}
cur_rec = cur_rect+l;
‘while(loop == 1)

{

space2(data_ buf ;1024 )+

len = stcu_d(recnum,cur_rec,6);
len2 = lencpy(&data_bufl5-lenl],recnum,len);
len2 = lencpy{(recnum,data_buf,5);
recnuml 51 =~ *¥0;.

fstp = fsttab;

row:= 4;

pg = 0;

clrget();

clscr();

fn =0;

p = edit_buf + 8;
pgsay(recnum,1,0,0x0f,0);
while(fstp—>fnuml0] '= ’¥0’)

fn>
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{space(p,fstp->fln);
cl = pbg,
pgsay(fstp->fname,row,0,0x0f,pg);
get(row,17,pg,p,0,’C’,0x70,’'¥0’,0,78, fstp >fln);
if(fstp->fln < 62)
row = row+3;
else
row = rowt3x(1+(fstp->fln- 62)/79)+3.
if{row > bm)
{pg = pg+l;
pgsay(recnumy,1,0,0x0f,pg);
row = 4;}

mfn = fn;
p = p+fstp->fln+i;
++fstp;
- 4++fn; )
¢ = RET;
fn = 0; :
while(c '= 23./&& ' c '= 17) /*x"w , qx/
{ )
vread(fn,&c,&ec,&f1g)
if(c==0)
Cc =ecC;
if((c==RET!'!c == 80)&&fn < mfn)
++fn;
else if(c==72 && fn > 0)
-—fn;)}
cl = pbg;

/%°Q exit pointx/
if( ¢ == 17)
{space2(data_buf,1024);
stat = btrieve(B _GETHT,pos.blk,data._buf,key,0);
if(stat '=0)
eof _fTlg ="*T"Y
else
eof flg
clear();
return(0)};
y :
/*Tailing blank,and copy from edit_buf to data _buf x/
fstp = fsttab; .
bf = 0;
p = edit_buf+8;
while(fstp->fnum[0] !'= ’¥0’)
{trim(p);
len=1lencpy(fstp->fcp,p,fstp->fln);

!F’;



if(xp = "¥0’)
bf = 1;
if(len < fstp->fln)
- *(fstp->fcp+tlen) ='¥0’;
p = ptfstp->fln+l;
++fstp;
)2
Af(bf == 1)
{
cur_rec. = cur_rec+l;
x(data_buf+5) =.* ’;
- stat = btrieve(B_INS,pos_blk,data_buf,key,0);
)
)}

/*Space and doh't terminated with nullx/
. space2(str,len)
char xstr;

int len; S
{while(len—- > 0)
xstr++ = 7 '

} .

/%*Copy from source to dest. stop by length limit */
/*Don’t terminated with null*/
lencpy(t,s,len)
char *t,xs;
int len; _
{ int ol; I
0l=0;
while(len—— > 09
{*t++ =5 %g++s
++o0l;)
return(ol);
Y '
/*List commandx/
" list()
{
char *p,xq,*t,*s,lbuff[2000]), toke,expf=0,strml[6],nxtf;
int len,upd,end,x,nxt;
cl = pcl;
bg = pbg; ,
fstp = fsttab;
if (fstp->fnum{0l== "¥0’)
{tprint(mes7);
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tfeed();
return(1);)
q = &qbllff[l]. .

log ='T";
expf = 0;
nxtf = 0;
nxt = 1;
/*List command par
if(xq '= '¥0’)
{
while(xq != '’
{if(stoke(aqa,
{strcpy
a = &qgbu
s=
strepy(
if(tok
{
if «(

{ r
e ;
wme <m0x39)

. ++ en,

ﬂﬂ&]@?‘téﬁ’i"ﬂ 119

nxtf = 1;) ¢

NG wwwmaﬂ

tfeed();
return(1);)

if (%g

}

else
++a;

} /%Parser loop*/



if(nxtf '= 1)

" {space2(data_buf,1024);
stat = btrieve(B_GETLW,pos_blk,data_buf,key,0);
if(stat '= 0)

{if(stat == EOF_ERR)
eof _flg = 'T’;
return(1);)}
}
else
{if(eof _flg == 'T*)
return(0);}

/*Check error from expevalx/

if(expf == 1)

{if( expeval() f=.0)
return(0) ;.

[ e e * [
while(stat !'= EQOF _ERR && nxt > 0)
{if(expf == 1)

{fval_con();

expeval ();)}

if(nxtf == 1)

——nXxt;.
if(log == 'T?’)
{
t = lbuff:
fstp = fsttab;
space2(t,8); z
lencpy(t,data_buf,5); /*Record no.*/
t = t+6;
®t = data_bufl5]; [¥del flagx/
/*Move ‘field content to list output*/
while(fstp=>faumi0) V= "%0’)
{ .
t = t+2; ' [xspace at boudary.of fieldx/
“len | = fstp->fln;
upd '=-0; '
p = fstp->fcp; /*sourcex/
q =t; /*targetx/
while(len > 0 && *p !'= '¥0°')
{*q++ = %p;
~=len;
if(gtyp(*p+t+)1= 2)
++upd;

B
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t = t+fstp->fln-len; :
/*Insert space to list ouput for collumn correction»/
space2(t, len+upd+2); :
t = t+len+tupd;
++fstp;
)
*t = '¥0°’; -
tprint(lbuff);
tfeed(); .
)
space2(data_buf,1024);
stat = btrieve{B_GETNX,pos_blk,data_buf,key,0);
} :
if(stat == EOE_ERR )
eof _flg = T’ ;
)
go_to()
{ .
char *q,%s,xt;
int len;
cl = pcl;
bg = pbg;
fstp = fsttab;
if (fstp—>fnuml[0l== '%¥0")
{tprint(mes7);
tfeed();
return(1) ;7 '
q = stpblk(&qbuff[l]).
len = 0;
S =d;
if(*qg == '¥0’)
return(l) ;
while(*s >= 0x30 && x*s++ <{=_.0x39)
++len; o
if(len > 5)
{tprintfmes9)y
tfteed();
return(1l) ;)
t = key; .
space2(t,5);
t = &keyl[5];
*t = '¥0°';
--t;
-—8,
while(len-- > 0)
xt—— = xg——;
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space2{(data_buf,1024);
stat = btrleve(B _GETEQ,pos_blk,data buf key,O),
if(stat == 0) . '
{eof_flg = ’F’;
return(0);}
eof _flg = 'T’;
if(stat == 4)

{tprint(mesl10);
tfeed();)}
return(1);
}
/*Edit current record%/
edit()
{int len,len2,fn mfn,row,i=0; . . .=

char c,ec,pg,bf, *p, Loop=1 eloop,tlg delchg.
unsigned power;
/*File is open /?x%/
if(fsttablO].fnuml0] == ’'¥01)
- {tprint(mes7): -
tfeed(); :
’ return(0);)
. I*End of file ?x/
if (eof_flg == 'T")
(tpr1nt(mes15),
tfeed();
return(0);

}
while(loop == 1)
{
len = stccpy(edit_buf,data_buf,6);
len = stccpy(edit_buf+6,data_buf+5,2);
/%Copy from data_buf. to edit_ buf.x»/
fstp = fsttab;
p = edit_buf+8;
while(fstp—)fnum[O] '=.'¥0")
{
len=stccpy(p,fstp- >fcp,fstp >£lnt1);
p = ptfstp->Ffin+1;
.++fstp,
)}
/*Full screen input/
fstp = fsttab;

row = 4;
pg = 0}
clrget();

clscer();
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fn =0;
p = edit_buf + 8;
pgsay(edit_buf,1,0,0x0f,0); /*record numberx/
/*Auto get loopx/
while(fstp->fnum[0] !'= ’'¥0’)
{
cl = pbg; :
pgsay(fstp->fname,row,0,0x0f,pg);
get(row,17,pg,p,0,'C’,0x70,°%¥0’,0,78,fstp->flin+1);
if(fstp->fln < 62) ) '
row = row+3;
else :
row = rowi3*(l# (fstp->f1n-62)/79)+3;
if(row > bm) J J
{pg = pgil;
pgsay(editi buf,1,0,0x0f,pg);
row = 4:}
mfn = fn;
p = ptfstp-—>fln+1,;
++fstp;
++fn;
}
/%Convert record no. string to valuex/
p = &data_buf(4];
i=0;
power = 1;
cur_rec = 0}
‘while( i++ <= 5)
{if(*p >="20’ && *p <= '9’)

cur_rec = cur_rec+(*(p——) - ’0')xpower;
power = powerx10;
3}
/¥ *f
c = RET! :
delchg = 0; /»delete changed ?. O = no)x/
fn = 0; :
eloop = 15
while(eloop==1)" /% "W, Ugx/
{

/*display delete or no delete messagex/
p = data_buf+5;
setcur(page,0,25);
cl = pcl;
if(xp == ’*x’)
tprint(”4X'!C8”);
else
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tprint(” ”); ,
vread(fn,&c, &ec,&flg); ., . - T
if(c==0)

c =ec;-
if((c==RET!ic == 80)&&fn < mfn)

++fn; . ‘ '
~else if(c==72 && fn > 0 &% cur_rec '= 1)

-—fn;
else if(c == 21)

{/%Delete record/

p = data_buf+5;
if(xp == 'x21)
*p=9 1%
else

*xp = * il
if(delchg ==.0)
delchg = 1;
else :

delchg = 0;

}
else

eloop=0;

/*Tailing blank,and copy from edit “buf to data _buf x/
fstp = fsttab; .
p = edit_buf+8;
whlle(fstp >fnum[0] = ’¥0’)
{trim(p);
len=lencpy(fstp- )fcp ps;fstps >fln).
if(len < fstp->fln)
- %(fstp->fcptlen) ='¥0';
p = ptfstp—>FfIln+1;

++fstps

} '
/*Flg = 0 mean, only move cursor*/
if(flg ==1 || delchg == 1)

stat = btrieve(B UPD,pos blk,data_buf,key,0);
if( ¢c== 73 ! c==18)
stat = btrieve(B _GETPR,pos_blk,data._buf,key,0);
else if(c==81!1c==3)
{stat = btrieve(B_GETNX,pos_blk,data _buf ,key,0);
if(stat !'= 0) ,
stat = btrieve(B_GETNX,pos_blk,data_buf,key,0);
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‘ )
}
else
loop=0;
}
clear(); -

}

/*Count up/down typex/
updowc(str)
char *str;
{int i=0;
while(xstr != °*¥02)
{if(gtyp(*stp+t) 4= 2)
++is)
return(i);
)
/*%Convert numeric /string to numeric valuex/
fval_con()
{char strl[401];
int x;
fstp = fsttab;
-while(fstp->fnumi0] ! "¥07)
{ if(fstp->ftypl0) == 'C* )
{x = stccpy(str,fstp—>fcp,fstp->FfIn+1);
str2val (&fstp=>fval,str) i}
++fstp; )

R

}
/*File fuction'x/
/*0Open structiire filex/
open_st()
{
stat = btrieve(B_OPEN,st._pos,&st. buff st.file,1);
return(stat); '
} .
/*close structure filex/
close_st()
{ .
stat,= btrieve(B_CLOSE,st_pos,&st_buff,st_kbuff,0);
return(stat):;
}
/*open data filex/
Oopen_dat()
{ .
stat = btrieve(B_OPEN,pos_blk,&data_buf,fil_name,0);
return(stat);
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close_dat()
{

return(stat);
}
open_all()
{int err; oy
if((err = open_st())!= 0)
return{(err);
else if((err = open_dat())!=0)
return(err);
return{(0);
>
clos_all{()
{close_st{);
close_dat();
)

/*Read structure/ to structure buffx/
read_st()

{int x;

char *p;

p = data_buf+6; ,

stat = btrieve(B_GETLW,st pos,&st_buff,st_kbuff,0);

"reclen = 0;
totfld = 0;  /®Total fieldx/
fstp = fsttab;
while(stat !=-EOF_ERR)
{
if(stat '= 0)
{tprint(mes6);
return(i )y}
strecpy(fstp-2fnum,st_buff.fnumb);
strcpy(fstp->fname,st_buff.fnameb):
strcpy(fstp—->ftyp,st_buff.ftypb).
strepy (fstp=p fillen,stcbuff | flenb);
strepy(fstp-—>fdec, st buff. fdech)
x = sted_i(fstp->flen,&fstp->fln);
X = sted_i(fstp->fdec,&fstp->fdc);
fstp->fcp = p; ‘
reclen = reclent+fstp->fln;
totfld = totfld+1;
p = ptfstp—->fln;
++fstp;

stat = btrieve(B_GETNX,st_pos,&st_buff,st_kbuff,0);

stat = btrieve(B_CLOSE,pos_blk,&data_buf,fil_name,0):
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fstp->fnumlC) = *¥0’;
) .
/*search command keyword in string(seach only first word)
input
str =string to seach
output ;
end = end pos.,toke = command token %/
stoke(str,end, toke)
. char *str,*toke;
int xend:
{
int row,col;
char *keywp,%ostryspf:
commp = comktab;
/*search first maching character by fix. string char.x/
while(commp->commch !'= *str && commp—->commch '= ’¥0°)
{ .
++commp ;
}
if (commp->commeh == '¥0’)
return(l);
if (commp->commch =="%str)
{
/*search word that start with same
character (& fix. string)»/
row = commp->commadd
keywp = tok_tablirow]l.keyword;
ostr = str; '
while(*keywp !'= WBRK)
{ /*search-next character of word %/
str = ostrs
col .= O;
spf = 1}
while (spf == 1)
{
while~(xkeywp- b= "R0 ' & & *keywpn 2 = %=t )
{

oy

++keywp
" ++str;
++col;
} A
/*skip space in wordx/
if (xstr == * )
{
while(*str == ' )
{++col;
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++str;)
¥ :
else
: spf = 0;
if (*keywp == ’'¥0’)
' .
/*this word matched
. %*end = col; o
*toke = tok_tablro:
return(0); .

}

else

{
/%gkip
k+row )
kaywp =

))*ena Of d that ¢
}/*end if of rstymac  charater x/
return(l); . .

X

i) | ]
qugineninens
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© /%*CSENT.C Date 5-01-86x*/

#include <extern.h>
/*Semi thai netural language parserx/
csent() ‘ '
{
char *p,xt,*s,tbuff[500],loop=1,stat;
static char m{] = "GOHA18";
S = m
if (sdatval() !'=.0)
{tprint(mes12);
tfeed();
return(0);
} .
fstp = fsttab;
if(fstp—>fnumi0] ==."¥0’)
{tprint(mes7);
tfeed();
return{(0);

[®——————— Init parameter ~~——+--———- */
defflg = 0;

odtyp = * *;

datptr = datarr;

sdat = datptr->dst;

ap = &qgbuffl1];

if(conj () '=:0);
{dap = stpblk{ap):
pronoun{);
ap = stpblk(gp);
tv1();
itg()i) [xSuppanarm: chaitarm/
- tprint(qp);
tfeed();
t = tbuff;
while(xs 4= 2¥0’)
Xttt = xgt++;
®t++ = ' .
/*Search field and save pos. to tablex/
fldscan();
fldptr = fldtab;
stat = fsearch(t,&t);
if(stat == 0)
{ _
while(loop == 1)
{
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}

}

/*Comparative operator word searchx/
comps(t,&t);
/*Move data value to tbhuffx/
qp = datptr->dst;
while(qp <= datptr->dend)
xt++ = xqpt+,
®t++ =" 7

odtyp = datpter=2>dtyp;
++datptr;
sdat = datpte=—>dst;
if(datptr->dtyp = '%0’)
logs(t,&t); /*Logical word searchx/
if (*qp == '¥0’)
loop = O}
else

p = stpblk(gp):
if((%gp ># 0x30 && x*gp <= 0x39) ! xgp ==
1V o xgp == ¥’ liixgp == '¥"’)
defflg = 1} /* 1 = can defaultx/
else
defflg = O}
stat = fsearch(t &t);
)}
)
xt = '¥0°’;
strcpy(&gbuffl1], thuff);
tprint(&gbuffl11);
tfeed();
list();

fldscan()

{

ch
£l
fl
P
wh
{

an~*pxgy %t, loop;
dptr = fldtab;
dptr—->ft = '¥0’;
= qp;

ile(xp '= '%¥0°’)

loop = 1;
fstp = fsttab;
while(loop==1)
{t = fstp->fname;
s p:

Ny
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. while(xt == x%s && %t !'= ’'¥0’)
{++s;
++t3) .
if(xt '= "¥0’)
{++fstp;
if(fstp->fnumi0l == ’¥0’)
loop = 0;
}
else
{loop = 0;. _ i
fldptr->fst .= p:
fldptr->fend =-s-1;
fldptr->f£ft fstp—>ftyplO];
fldptr->fp fstp->fname;
++fldptr;
fldptr->ft 207" ; \ .
p = s—-14% :

15

)
++p,

3}

} R

/%Field searchx/

fsearch(tt,tt2)

char *tt;

unsigned *tt2;

{ .
char *s,x*t,%s2 ,lop,loop,eflg;
int cou; : v
s = gp;
cou = 0;
while(fldptr->fend < sdat && fldptr->ft != ’'¥0’)

{++£f1ldptr;
++cou ;¥

if(cou > Q)
{--fldptr;
t_=_fldptr->fp.
++fldptr;

else
{
if(datptr->dtyp !'= odtyp ! defflg == 0)
{if( askf() == Q)
t = fstp->fname;
else
{xtt2 = tt;
return(1);)}
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else
. t = ofname;
) ,
strcpy(ofname,t);
negs(); : /*Find negationx/
if(negf ==1 && datptr->dtyp == 'J’)
{
wtt++
xLG+t
®xtt++
xtt++
negf = 0}
)}
/*move field mame to command buffx/
while(xt !'= *¥0%)
xtt++ = t++
®gt++ = 1
*tt2 = tt,
return(0);

'N’;
14 (Y
’T’

’ 1

[T TR '}

e wo o

-y )
/*Ask user for fleld name*/
askf ()
{ \
char dbuff[200]1,fnhl4], %t *s, loop,flg,
loop=1;
s = sdat;
t = dbuff;
while(s <= datptr->dend)
xt++ = %g++;
*t++ = * 1
*t = "¥07’,
while(loop '==1)
{
fstp = fsttab;
tprint(dbuff);
tprint(mesi3);
tfeed();
while(fstp->fnpuml0]1 '= ’'¥0’)
{tprint(fstp->fnum);
tprint(” ”);
tprint(fstp—->fname);
tprint(” ");
++fstp,}
tfeed();
accept(mesldq,h 4, fnb),



tfeed();
fstp = fsttab;
flg = 1;

while(fstp—->fnuml[O0]}

{flg = 0; .
loop = 0,;}
else
++fstp;
)

}
return(0);
}
/*Neagtion word search*/
negs()
{
char xs;
negf = 0;
s = dp;
while(s < sdat )
{if (xs == 'T’)
{if(x(s+1) == 22’ 88 x(s+2)
{negf = 1;
ap = s+3;
return(0);}
>
++s,
B
} .
/*Logical conjunction searchx/
logs(tt,tt2)
char x*tt;
unsigned (%tt2; ]
< N |
int end;
char *p,*t,toke,loop:

static charandm[1=""AND”,orm[1="0R":

loop = 1;
P = dp:
while(p < sdat && loop==1)
P '
if(stoke(p,&end, &toke) ==
{if(toke == 34 ! toke =
{ap = p+end; :
loop = 0}
else

0)
=3

5)

'= '¥0' && flg==1)
{if(fstp—>fnuml0] == fnb[0] && fstp->fnumll]
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== fnb[1])



++p;

. |

else

++p;
} L
if(loop==1)
toke = *77;
if(toke == *7?)
t = andm; ‘
else

t = orm; —
while(*t != '¥0’
*tt++ .= xt+

*tt++ = ] ';
*tt2 = tt;
return(0);
}
/*Relational con
comps(tt,tt2)
char *tt; -
-unsigned *tt2;
< v

int end;

char *p,xt,toke, loo
loop=1;
P = dp; y v
while(p ¢ sdat—&& Joop==1)

v.

o

1f(stoke(p,iﬁn-,.. =
{if(toke >=60 && toke <= 62)

{ap = ptend;

elseﬁﬂﬁ?ﬂﬂﬂ‘ﬁwmﬂ‘i
quﬂﬂﬂ‘imm&’]’mmﬁﬂ

/*De ault relational operator*/

if(loop==1)
{if (datptr->dtyp == 'J’)
toke = '$’; ‘
else '
toke = ’=’;
)

if(negf == 1)
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{switch(toke) {
case ’'=’
{xtt++
xtt++
_break;
case '>':
{xtt++ =
xtt++ =

break;}
case '<’:
{xtt++ = '>7;
xtt++ = "
break;)

2 B TEY

)
}
else
xtt++ = tokey
*tt++ = * 0
*tt2 = tt;
return(0);
} ,
/*Search Data value »/ ;
sdatval()
{char *pt,*st,*sst,*sen, *nst,*nen;
char flg,sf,nf;

flg = 1;

st = &qgbufflill; -

pt = st;

sen = st; "
nen = st;

datptr = datarr;
vhile(flg == 1)
{

while((*ptKLOx30 "I | *pt >T0x39) && ¥pt- != .’ && *pt !'= ',°
. && xpt != '¥’’8& *xpt != '¥"'ggxpt != '¥0')
++pt; .
st =" 0;
nf = 0;
if (xpt == ’¥’’ || xpt == '¥77)
/%0 mean foundx/
if (sdatvals(pt,&sst,&sen) == Q)
{sf = 1;
pt = sen+l;
datptr->dtyp = *J’;
datptr->dst = gst: : “«
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datptr->dend = sen;
++datptr;
datptr->dtyp = '¥0’;
}
}
else if ((*pt >= 0x30 && *xpt <= 0x39):ixpt=='."
Vi¥pt ==.7 1) :
{
if (sdatvaln(pt,&nst,&nen)==_0)
{nf = 1;
pt = nentl;
datptr—->dtyp =+'C’:
datptr->dst = nst;
datptr—->dend /= nen;
++datptr;
datptr—->dtyp = '¥07';
}
}
if (nf == 0 && sf == 0)
flg = 0;
}
if(sen == st && nen'== st) '
return(1); /*No found data valuex/
else :
{~--datptr;

pt = datptr->dend+1; :
/*Cut right _side of right-most _data{valx/
*pt = *¥0’;
return(0);}
} .
/*end of sdatvalx/
sdatvals(pt,st,en) /xst <{_en¥/

char x*pt} -
unsigned *st, *en;
{
char .c3 '
while(%pt 1=""¥0’ && *pt '= '¥’'’'%& *pt !=."'%¥"")
++pti '
if (xpt !'= '¥0’)
{
c = %pt;
*st = ptt++;
while(*pt !'= c && *pt '= '¥0°')
++pt; »
if (*pt !'= '¥0°’) '

¥en = pt;



115

else
return(l);
}
else
return(1);
return(0);
}
/*end of sdatvals %/
sdatvaln(pt,st,en) /%st < en*/[
char xpt; '
unsigned %*st,*en;
{
while((*pt < _O%304 *pt > 0x39) &&
*pt != 07 B %¥pt|!'= ', '%& %pt != ’¥0")
++pt) f ;
if (xpt '= *¥02) : w
*¥st = pt++; : -
else
return(1);
~while((*pt >= 0x30 && %*pt <=/ 0%39 !
*pt == F.'0. ¥pt=s',")&& *pt '= ’¥0' )
++pt
*en = pt—1;
++pt;
"return(0);
}
/*end of sdatvalnx/
/*Search conjuntion-search it allx/
conj()
{
int end;
char *p,%s,*t,*cend, toke,flg,loop;
flg = 0; '
P = ap; -’
while( p'< sdat)
{if( stoke(p,&end,&toke) == .0)
P A
if(toke 122)
{
loop = 1;
fstp = fsttab;
wvhile(fstp->fnuml0] !'= ’¥0’ && loop==1)
{s = p; ‘
t = fstp->fname;
while(xs == xt && *xt !'= ’'¥0’)
{++s;

1]
]
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++t;)
if(xt == *¥0°')
loop = 0;
else
++fstp;
} o
~if(loop == 0)
P = s :
else
{flg
cend

else
++p;
}
else
++p;
} X
if(flg == 1)
{dap = cend+1
return(0) ;)
else
return(1);

}
/*Search pron 1 then exit)x/
pronoun() i A — —
< A x
. int end; m il %
" char *p,toke oop;
" loop = 1;

fv:'};%‘?;maii NENTNHINT
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}
/*Search Transitive verb type 1%/
tv1i()
{
int end;
char *p,toke,loop;
loop = 1; '
P = dp, )
while(loop==1 && p<{sdat)
{if( stoke(p,&end,&toke) == @)
F :
if(toke =="124)
{
gp = ptends
P = dp;
> .
else
loop = @}
3
else
loop = O;
>
}
itg ()
{int end;
char x*p,toke;
P = 4dp;
while( p < sdat)
{if( stoke(p,%end,&toke) == Q)
{
if(toke == 125)
{ )
ap_=(ptend;
. P .= dap;
)

else
+Fp,

/*search word in string
input

keytab = key table,wordtab = seached

word table,
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str =string to seach
st = col. of char. in array. that sync.
output
st =.start pos. ,end = end pos. %/
sword(keytab,keyp,wordtab,str,st,end)
char *str,wordtabl]1[151;
int xst,*end;
struct ktab {
char keych;
int wadd; }:
struct ktab keytabll}l, *keyp;
{ ; .
int col,ocol ,flag, row;
char *tabp,*ostr ,*tabp2;
col = *gst; '

{

keyp = keytabj
ocol = col;
ostr = str,

v

with str

"while (*str 1= 20N/ /% end of string ? »/

/®search first maching character by fix. string char.x/ .

while(keyp->keych t= *str && keyp->keych != ’¥0’)

++keyp;
if (keyp—>keych == ¥str)
R{ s

/*search word that start with same character */

row = keyp—>wadd;

tabp = &wordtablrowl[O];

while(*tabp !'= WBRK)

{ /%search next character of word %/

while (xtabp '!'= '¥0' && *tabp '= WBRK
&& %str | V="¥0’&& ¥tabp /s xstp)
{ ++tabp;
t+str;
col++;)
if (xtabp ==¥0’L ¥ Mtabp =="WBRK )
{

/%this word matched»/
*st = ocol;

*end = col-1;
return(0);

}

else

{

/*skip to next word in tablex/

while(*tabp !'= '¥0’&& *tabp '= WBRK)
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~++tabp;
if (»%tabp !'= WBRK)

{str = ostr;
col = ocol;
++row;

wllO]1;

tabp = &wordtablr
/*while (*tabp++
}
} .
}/*end of ses
}Y/*end if of fi
/*skip to nex
++ostr;
str = ostr
col = ocol+1;
while(*str
{++col;
++str;)

t with same charaterx/
g charater */

*skip spacex/

}

return(l)f

~ AUEINENINEINg
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/*Cfword.c start 3-1-86 Date 4-11-86
Editor Functions.x/
#include <stdio.h>
finclude <ctype.h>
#include <{extern.h>
say(str,row,col,att)
char *str,att;
int row,col;
‘ :
char xt,;
t = temp;
while(*str != '¥0’)
{ .
®Xt++ = %xgtr,
*t++ = att;
++str;
}
®*t++ = STDP;
setcur(0,row,col); .
dsplngb(typtab,combtab, lmar, temnp) ;
}
pgsay(str,row,col,att,page)
char *str,page;
int row,col,att;
{
++saycou;
sayp = &saytablsaycou—=1t};
sayp->mesp = ‘str;
Sayp—>Syrow = row;
sayp—->sycol col;
sayp—->syatt att;
sayp—->sypage = pages
if(page == 0)
say(str,row,col ,att);
}

/*Resay messageé tin sdyriecx/
autosay{(pg)
char pg;
{int i,
if(saycou == 0)
return{(Q0);
sayp = saytab;
i=1;
while(sayp->sypage !'= pg && i++ <=
++sayp;
if(sayp->sypage !'= pg
return(1); '
while(sayp->sypage == pg)
{

i 1 > saycou

saycou )

)
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say(sayp—)mesp,sayp—)syrow,sayp—)sycol,sayp~>syatt)§

++sayp;
) :
Y
/*Format inputx/
get(row,col,pg,str,dec,typ,clr,bch,1,r,1n)
char row,col,pg,l,r,*str,clr, bech,typ:
int dec,ln;
{
char att=7,%g,%xt;
grp = &grectablgecoul;
Erp->grow = row; ,
. grp->gcol = col;
grp->gpage = pg;
grp—>gdat str;
grp—>gbc bch;
grp—>gcl clr;
grp—>gdec dec;
grp->gt typ:
grp—>glm 1; /*left marginx/
grp->grm r; /*right margin/
grp—>glen In;
++gecou; :
grectablgecoul.gt = '¥0’';
ccol = col; '
cCrow = row,
bc = bch;
Im 1;5.
rm r;
cl clr;
cpos=1;
sth = str;
ptr = str;
if(dec !'= 0)
®*(ptr+(rlen—-dec)) = ., *;
rlen grp—->glen;
mlen rlen’;
slen t2len(ptr);
if(pg == 0)
{

B T L T B

oo
nog o

if(bch '= ’'¥0’)
{setcur(page,crow,ccol-1);
dspmid(bch,page,clr);)}

setcur(page,crow,ccol);

copget();

dsplngb(typtab,combtab,lm,temp);
}

}

/%Clear getx/
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clrget()
{

gecou = 0}

saycou = 0; )
epage = 0; /*used by gerx/
grectab[0l.gt = *¥0’; /%xgt normaly have to type C,6Nx
/%*Redisplay pagex/
reget(pg)
char pg.;

{int i = 0O;

clscr(page,bg);

grp = grectab;

while(grp->gpage !'= pg 2& i+t <= 23&%&grp—-rgt '= '¥0’)
., t+grp; ;
if(grp-Y>gpage '= pg . grp-Cgt == '¥0’)
return(1); :
while(grp->gpage == pg && grp->gt 1= '¥0’)
{
.ccol = grp->gcol;
crow = grp—-J>grow,
bc = grp->gbc:
Im = grp->glm;
rm = grp—>grm;
cl = grp->gcl;
sthb = grp->gdat;
ptr = grp—->gdat;
vdec = grp—->gdec;
cpos = 1,
rlen = grp->glen;
mlen = rlen;
slen = t2len(ptr);

if(bc '= ’¥0’)
{setcur(page,crow,ccol“1);
dspmid(bc,page,cl);}
setcur(page,crow,ccol);
copget(); L :
dsplngh(typtab,combtab,1m, tenp);
++grp;
)
} A
/*0Operate get functionx/
vread(itc,c,exc)

int itc;
char *c,x*xexc:
{

char rrow,rcol,rbe,rlm,rrm,rcl,*rpt,com;
char eflg=1,pg,*s,*t;
/*cpos offset frim rcol+1x/
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grp = &grectablitel;
pPg = grp—->gpage;
if(epage '= pg)
{reget(pg);
autosay(pg):
~ epage = pg;)
"grp = &grectablitcl;

srow = grp->grow; /*start row*/

scol = grp—->gcol;

vityp = grp—->gt,;

vdec = grp—->gdec; :

.bc = grp->gbc; /*Bouidavy charater ,’¥0’ = nonex/
cl = grp->gcl; I*Foreground color/att.x/
Im = grp->glm;
rm = grp->grm; ¥ 4 ;
mlen = grp->glen;/*maximum len%/

s = grp—->gdat;
t = wbuff; ‘
rlen = 0; / %real lenx/

/*copy from gdat to wbuffx/
while(xs!="%0"’)
{x(t++) = %x(s++);

++rlen;)

*t = '¥0°’;

ptr = wbuff,

stbh = wbuff;

slen = t2len(ptr);

Crow = Srow,

ccol = scol;

cpos = 1;
while (eflg==1)

{

seco();

setcur(page,crow,ccol);
lgram = 1gf(ptr);

rgram = .ngflptr ,~¥0' )
chr = kbinp(&echr):

- cuartyp = gtyp(chr);
dgram = dgf{(lgram,curtyp);
if(isdigit(chr) '= 0)

ct = 'N’;
else

ct = ’'C’;
if (chr<32)

{

if(chr==0)
com = echr;

else

‘com = chr;



if (com==2211com==82) /% vyx/
{
if (ins == 1)
ins = 0;
else
ins = 1;
}

else if(com==1) /% Ax/
wordl ();
else if(com==6) /% Fx/
wordr();
else if((com==7 |! com -= 83)%&& rgram i= 1)
rdel ();
else if(com==4 |
{cra();
if(vtyp == ’'N’&& cpos == mlen-vdec+1 )
cra();:)
else if(com==19
{cla();
if(vtyp == ’'N’ && cpos == mlen-vdec+1)
cla();) ;
else if(com==20) /% 1%/
. rcut();
else if(com==25) /% Yx/
delal(); -
else if(com==23!com==RET:icom==721"
com==80; jicom==171 icom==27) /*Exit %/
eflg=0;
else if(com==71icom==73! icom==79 ;
com==81. com==3|icom==18!com==21)

comd=="T7) |\ /*"Dx/

eflg=0;
)} ‘
else . .
{if(ct == vtyp “i! vtyp ==
{if(ins == 0 && curtyp ==
replac(); _ ‘
else ifl{rgram ==, 10 && dgram 0= 0) &% plen K aleh)
dea(); '
else if(egram '= 1 && dgram '= Q)
insert(); '
else if(dgram == 0) .
. putch(7);
}
else .
putch(7);
>

}
*¥c = chr;
*exc = echr;

'C’ ) /%Typ checkingx/
2 && rgram '= 1)

com /== .75 1§ com == 8) /% "Sx/

124
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t grp—>gdat;

s wbuff;

wh;)e(*s '= *¥0’)
Xt++ = %g++

*t = "¥0’;

)

/%Type 2 lengthx/

t2len(pt)

" char *pt;

{

int 1 = 0; ,
while(*pt !'= '¥0’)
{ if (gtyp(*(pt++)) == 2)

++is)
return(i);
)
/%delete right sidex/
rdel ()
{
int i; ‘ : \
if(rgram == 8) /xcursor point at rmtix/
{cra();
rgram = rgf(ptr,’¥0’); }
if(rgram==2!!rgram==4! !rgran==5)
pulll(2); '
else if(rgram==3)
pulll(1);
else if(rgram==6, rgram==7)
pulll(3);
i = mlen—cpos+1+(rlen-slen);
--slen; .
/*pulsl(1l,crow,ccol,slen);*/ /xpull-screeneftx/
copget();
dsplngb(typtab,combtab, 1m, temp);

) . o
/*Delete allx/
delal ()

{ ‘
ccol = scol;
Crow = Srow;
rlen = O;
xsth = ’*¥0°’;
ptr = stb;
slen = 0;
cpos = 1;
copget();

setcur(page,crow,ccol); ,
dsplngh(typtab,combtab,1m,temp);
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/*Delete all char in right(right cut)x/

rcut()
{

*ptr = '¥0’;

rlen = cpos—1;

slen = t2len(sth);
copget(); S

dsplngb(typtab,combtab,Im,temp)

/*Data entryx/
- dea() /*ptr point to end textx/
{ .
/*enter type 2 casex*/
if(dgram == 1!!(dgram==3.8&&ccol <= rm))
{ f
*ptr++ = chr;
++ccol;
++slen;
dspmid(chr,cl);
}
else if(dgram == 3 && ccol > rm)
{*¥ptr++ = chr;
ccol = lm;
crow=crowt3;
setcur(page,crow,ccol);
dspmid(chr,cl);
++slen;
++ccol ;)
else if(dgram == 2)
{
®¥ptr++ =chr;
dspup(chr,cl);)
else if(dgram =="4)
{
¥ptr++ = chr;
" dspdow(chr,bg);)}
else if(dgramn==-5)
{
®ptr++ = chr;
dspup{(wcomb(chr,*(ptr-2)),cl1);)
*ptr = ’'¥0°';
++rlen;
++cpos

if(dgram==2 ! dgram == 4 !idgram == 5)
{bleft(1);
copget(); ,
dsplngb(typtab,combtab,lm,temp);
}
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_______ */
setcur(page,crow,ccol);
) .
/*if curtyp !'= 2 ,no care ins = ?,-->insert by autox/
insert() .
{
.pullr(i); _
if(curtyp == 2) /*insert type 2 casex/
{ ' :
if(rgram == 8) /%Cursor point at rmt1%/
cra(); ' '
- %*ptr = chr;
++slen;
/*rgram is changed &used for cra()*/
‘rgram = rgf(ptr, '¥07);
copget();
. dsplngh(typtab,combtab, Ilm,temp);
~cra();
)
else
{

if(dgram == 2)

q . ‘
*(ptr++) =chr; '
++cpos; -
dspup(chr,cl);}

else if(dgram == 49

( ;

*(ptr++) = chr;
++cpos;
dspdow(chr,bg) ;)
else if(dgram ==095)
{
¥(ptr++) =f¢chr;
++Ccpos
dspup(weemb(chin, *tptn-2)) ;cl9 ).
}y .
if(dgram==2 I dgram == 1+ dgram == 5)

{if(rgram == 8)
setcur(page, crow+3 Im);
copget();
dsplngb(typtab,combtab,lm, temp) }
setcur(page crow,ccol);
}
/*replace %/
replac()

*ptr = chr; .
if (rgram == 8) /*Cursor point at rm+1 %/



128

cra();
- ++slen; » :
dspmid(chr,cl); _ ' )
rgram = rgf(ptr,’¥0’); /xReset old rgram x/

[ %————— Auto delete up/downx/
++ptr; /*set pointer point to up/downx/
if (rgram == 2 ! rgram == ¢+ rgram == 5)
pulll(1);’ ‘
else if(rgram == 6 !! rgram == 7)
pulll(2);
~-ptr;
[#——— */
setcur(page,crow,ccol):
copget();
dsplngb(typtab,combtabyIm,;tenp) ;
[%———x/
rgram = rgf(ptr,’¥0’);
cra(), )
setcur(page,crow,ccol);
clrup(cl);
clrdow(bg); ¥ !
y .
/*Move cursor to next word*/
wordr ()
{ R
rgram = rgf(ptr, '¥0’);
while(xptr < 'A’&& rgram !'= 1)
{cra();

rgram = rgf(ptr,'%¥0°);}
rgram = rgf(ptr,’¥0’);

while(rgram !'= 1 && *ptr >= ’A’)
{cra();
rgram = rgf(ptr, 2¥0%) .}
} ¥
/*Move cursor to front word/
wordl ()
{
lgram = 1gf(ptr);
while(*ptr < "A’&& Igram '= 1)
{cla();

Igram = 1gf(ptr);)
lgram = lgf(ptr); o
while(*ptr >= A’ && lgram '= 1)
{cla(); .

Igram = 1gf(ptr);)
} .



/*Cfwfunc.cx/
/%start 3-1-86 today 4-2-86x/
include <stdio.h>
#include <extern.h>
/%Search coordinate of end-textx/
seco()
{ .
int i,j,k; _
i = slentmlen-rlen; /%total collumn on screen/
J = rm-scol+1; /xcollumns of first line»/
if (i<=j) :
{ecol = scol+i-1;
erow = srow;)}
else
{i i-js
J rm—1lm+1;
k i/d;
if(k*xj == i)
ecol = rm;
else '
{ecol = lm+i-kxj-1;
++k; )}
erow = k*3+srow;

nop R

)
}
. / *Boudary leftx/
bleft(n) '
int n; . ;
{ N

int col,mcol,lcol;

if(bc '= "¥0’)

{col = ecol*1y
mcol = rm+1;
lcol = Im+l;)

else

{col =y €col
mcol"'= rm;
lcol & 1Im;)

while (n—— > 0)

{setcur(page,erow-1,col);
dspmid(’ ’,page,bg);
setcur(page,erow+l,col);
dspmid(’ ’,page,bg);
setcur(page,erow,col);
dspmid(’ ’,page,bg);

if(col == 1col)
{col = mcol;
erow = erow-3;)

else
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--col;}
if(bct= '¥0’)
{ecol = col-1;
bound();}
else
ecol = col;
setcur(page,crow,ccol);
>
/*Boundary rightx/
bright(n) ‘
int n;
{
int col,mcol,lcol;
char a;
if(bc !'= ’¥0’)
{col = ecol+1;
mcol = rm+1;
lcol = Im+1;
a = bg:}
else
{col = ecol;
mcol = rm;
lcol = 1Im;
a = cl;)

while (n—-- > 0)
{setcur(page,erow—1,col);
dspmid(’ ’,page,a);
setcur(page,erowtl,col);
dspmid(’ ’,page,a);
setcur(page,erow,col?);
dspmid(’ ’,page,a);
if(col == mcol) ¢
{col = 1cols
erow = erowt3.:)}
else
++col;}
if(bcV=) "¥0")
{ecol "= col+13%
bound{);}
else
ecol = col;
. setcur{(page,crow,ccol);
) .
/*Display boundary */
bound()
{
setcur(page,erow,ecol+1);
.dspmid(bc,page,cl);
} .



/*copy form getvar to disp buffx/

/*Must start with type 2%/
copget ()
{
int i;
- char %*s,%xt,col,t2,t3,att;
col = ccol;
t = temp:
s = ptr;
while(xs !'="¥0"')
{%t++ = xg++;
*xt++ = ¢l ,
t2 = gtyp(*s);
t3 = gtyp(x(s+1))7
if(t2 == 3)
att = bg;
else
att = ¢l
if(t2 ==
{xt++ =
nt++ =

[
=h
~
[
w
]

{*t++ = RET;
col = 1Im;

, ++43)

)
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i = mlen-slen;(/*Don"tichange boundary*/

while(i-- > 0)
{xt++ r g
%t ++
++col}
if(col == rm=l)
{col = 1Im;
*t++ = RET; -
++t ;)

cl;

}

*t = STDP,

)

/*¥pull leftx/
pulll(n)

int n;

{

char ¥*p;



unsigned i)

p = ptry
if (rlen > 1)
{

i= rlen—-cpos—n+1;
while(i-- > 0)
{*p = *(p+n);
++p; )
) . .
rlen = rlen—-n;
*(stb+rlen) = ’¥0’;
>
/*pull rightx/
pullr(n)
int n;
{
char *p;
unsigned i,ps;
p = stb*rlen;
i = rlen—-cpos+2;
while(i-- > 0)
*(p+n)=%(p-—-—);
rlen = rlen+n;
if (rlen > mlen)
{rlen = mlen;
®(stb+rlen) = *¥0';)}
)

cla() /% Cursor left action %/
< :
if (lgram == 1)
putch(7);
else if(lgram == 2! lgram =
( _
- ptr = ptr = 2;
cpos = cpos—2,;
--ccol )}
else if(lgram.==:-3)
{ .
-—ptr;
——Ccpos;
-—-ccol; )}

else if(lgram == 6! lgram == 7)

{ .

ptr = ptr - 3;
cpos = cpos-—3;

- -~ccol )}

else if (lgram==8)

{ccol = rm+1;
crow=crow—3,;)}

132



133

" setcur(page,crow,ccol);

}
cra() /* cursor right action %/
{
if (rgram == 1)
putch(7);
else if (rgram == 2!! rgram==4 '} rgram == 5)

{ptr = ptr +2;
cpos = cpos+2; '
.++ccol ;).
else if (rgram ==_3)
{
++ptr;
++cpos;
++ccol ;)
~else if(rgram == 6!} rgram == 7)
{ptr = ptr+3;
cpos = cpos+3;
++ccol ;) - -
else if(rgram == 8) /*Cursor point at rm+1 »*/
{ccol = Im;
crow=crow+3;)
setcur(page,crow,ccol )
) )
/*gramma functionx/
1gf(str) /xleft _gramma functlon * f
char *str; ,
{
char lchr, st = 0;
char typ, *lptr;
if(cpos==1) -
return(1l);
if(ccol==1m)

return(8);
lptr = str;
lptr =_lptr=1;
lchr =p*lptr;
lptr = 1ptr-1;

typ = gtyp(lchr);
if (typ == 8)
{
return(1);
} .
else if (typ == 1)
¢ _
fchr *Iptr;
lptr Iptr-1;
typ = gtyp(lchr);
switch (typ) {



case 2
return(2);

case 3
return(6);

case 4
return{(7);

default: )

}

else if (typ == 2)
return{(3);

else if (typ == 3)
return(4);

else if (typ ==.4)
return(%);

else if (typ ==7)
return(9);

else
return(8);

}

rgf(rptr,eot) /*right grammar funtion¥x/

char *rptr,eot;

{
int i = 0;
char t1,t2,t3;
if (*rptr==eot)
tl = 9;
else
tl = gtyp(*rptet+);
if (*rptr==eot)
t2 = 9;
else
t2 = gtyp{*rptrnt++),
if (*rptr=Zeot)
t3 = 9;
else ‘
- t3 =.gtyp(%rptr)
whiled( (rgtabli100]
(rgtablill1l]
(rgtablil[2]

i++;
/*When ptr point at
at rm+l,rgram

'= 1. 8&& 'rgtabli1[0]
t= t2 && rgtablill1]
'= t3 && rgtablill2]

I ITH
= Noke)
S N N

EOT and cursor point

!'= 8,because this

editor don’'t save RETx/

if(rgram !'=.
return(8);

}

1 && ccol ==

return(rgtablil[31);

rm+1)

/*Data entry gramma function %/

dgf ()
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int i; .

i = (lgram—1)=6;

while (curtyp!=dgtablill1]&&lgram==dgtab[il[0])
i++;

if (lgram == dgtablill
return(dgtabl[ill2]);

else
return{0);

I
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/%CFI0.C do i&o function 4-12-86 %/
#include <{(stdio.h>

Binclude <extern.h>

/*High level [&0%/

getline(s,lim)

char xs;
int lim;
{

/*ct = current typejyot = old typex/

char c,d,ext,*xb,ct ot}

int i;

unsigned cmd, cde row ,col ,snow,scol ,row2,col2;
rdcur(page, &srow, &scol &cmd),

i= 0)

*s = "¥0°;

while ( i<lim—-1 && (¢= kblnp(&ext))'= RET)
{

ct = gtyp(c);
ot = gtyp(*(s—-1));
if (¢ == 8 && 1 '= 0)
{.
rdcur(page, &row,&col , &cmd);
curlft(); :
rdcur(page, &row2,&colzZ, &cde),
if(ot == 2)
{
dspmid(’  *;eci)i
if(col ==70)
{col = col2;
row = row2;}
else
-—colj;
} y .
else if(ot == 1 1! ot == 4)
{
setcur(page, cow2=1%, ¢ol2);
dspmid(% "5¢cl);
CifC i >= 3)
{if(gtyp(*(s-2)) == 4)
{setcur(page,row2-1,col2);
dspmid(*(s-2),cl);}
}

)
else if(ot == 3)
{setcur(page,row2+1,col2);
dspmid(’ ’,bg);)
setcur(page,row,col);
——1i;
--8;

\
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*s = '¥0°',;
.
else if( ¢ '= 0 && c >= 32)
{ .
if(pflg == 1)
prt_out(c);
if(ct == 2)
{dspmid(c,cl);
++1i;
%s++ = ¢ )
else if(i '= 0)
{d=c;
rdcur({page, &pow,&col ,&cmd) ;
if(ot == 4 .&& ¢ct == 1)
d = wecomb(x{s~1),c);
if((ct == et == 3 1 ct == 4) && ot '= 1 )
{ 1

L]

if(col == 0 %& row.!= srow)
setcur(page,row—3,79);:}
if(ct == 3 && ot = '3 ) '
{dspdow(d,bg);
®xg++ =¢,;
++1;) .
else if((ct == 4 &% ot '= 4 )!! ct == 1)
{dspup(d,cl);
T oxg++ =1 C,
++i;)
setcur(page,row,col);
. } :
)
} .
/*if (c == RET)
xs++ = %/
*s = '¥0°',
if(pflg == 1)
{prt_ocut(13);
prt_out(10);}
return(i);
) i
accept(str,lim,ip)
char *str,*ip,
_int lim;
{int len;
tprint(str);
len=getline(ip,lim);
. return(len);
) , .
/*input char from keybhoardx/
kbinp(ext)
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char *ext:

{ .

char chr,chr2,x;
chr2 = 60;

while (chr2 == 60)
{

chr = kbbio(&chr2);
if (chr == 0 && chr2 ==60)
{
cmflg = emflg ~ 1;
putch(7):
if(cmflg == 0)
cursize(7,7);
else
cursize(5,7);
} R
/* check "p */
if(chr == 16)
{pflg pflg ~ 1
chr2 60;
)

HoH

y (
if (chr < 32 1! coflg ==-0)
{*¥ext = chr2;
return(chr) i}
else
{x = convtablO]} /*get offset val.*/
*ext = chr2;
return(convtablchr-x+1]);}
S
/*Get type function/
gtyp(gchr) /* get general type of char x/
char gchr;
{
char offs;
offs = typtablO];
return(typtablgchr=offs+1]);
> _ '
ktyp(kchr) /xkeyboard charracter typx/
char kchr; .
{
char ktyp;
ktyp = gtyp(kchr);
if (kchr == 0x0d)
return(11); /*soft return %/
else
return(ktyp);
)
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/*combine to type <5>,sara_upt+van */
wcomb(up,van)
~ char up,van;
{
char typ,tchr,upoff,vaoff;
int gsize;

upoff = combtab[0]); /*get sa-up offset val.x/
vaoff = combtabl2]: /*get van offset val.x/
gsize = combtabl1], /*group size of sa-up %/
typ = gtyp(van);
if (typ == 1)

{

up = up—upoff
van = van-vaoffj

)

qlse

{
tchr = van; ;

. van = up-vaoff;
up = tchr-upeff;
) '

return(combtab[up*gsize+van+3]);
)
/*screen functionx/
/*High Level 18&0x/

tprint(s)
char xs;
{
char *t,t2,t3,att,cl,c2,ret;
int r;
unsigned cmd,row,col;
t = temp; : '
rdcur{(page, &row, &col ,&cmnd) ;
while(xs !'=""¥07")
{
!/ %Check, keyboard .status,check: »s%/
kbhstat(&cl),
if(cl == 19)
{ .
¢l = kbbio(&c2);
} ' :
if(cl == 16) /I® "p %/
{

cl = kbbio(&c2);
pflg = pflg ~ 1;

Cif(pflg == 1)
prt_out(x»s);



>

ret = g, /*save for check
%t++ = Rg++)
xt++ = cl;

t2 = gtyp(*sg);
t3 = gtyp(n(st]))|
Ir(e2 ~= )
att = ol
6lse
att = bg;
if(t2 == 1 |
{it(pflg == 1
prt_out(*s);
wt++ = wgHt )
*t++ = att;
if(t3 == 1)
{if(pflg == 1)
prt_out(xs):
xt++ xs++
*t++ cl:}

won

)}
++col ;
if(col > 79! ret == 13)
{xt = STDP; ‘
dsplngb(typtab,combtab,0, temp) ;
t =temp;

col = 0}
tfeed();
if(row + 3 > 23)
row = 23;
else
row -rowdd)
potenp(pags , oy, 6ol )
Nt++ = STDP;

dsplngb(typtab,combtab,0stemp);
setcur(page; row col)s

/*Thai feedx/
tfeed()
{unsigned row,col,cmod;

int i;

rdcur{(page, &row,&col,&cmod);
if(row+3 <= 23)
setcur(page,row+3,0);

else _
{setcur(page,23,0);

i = (row+3)-23;
while(i——_) 0)

RETx*/
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scrllup();

}
/*Hard copy*/
it(pflg == 1)
{prt_out(13);
prt_out(10);

}

}

/*Low level 1&0 ,link with B1OS%/

/*cursor leftx/

curlft()

{ .

unsigned curmd;
int row,col;
rdcur(page, &row, &col , &cuormd) ;
if (col '= 0)
setcur(page,row,col-1);
else if(row-3 >= 1)
-setcur(page,row—-3,79);

)

currgh()

A

unsigned pos,curmd,row,col;

rdcur(page, &row, &col , &curmnd);

if (col = 79)
{
if (row < 24)
setcur(page,row+1,0);
else
{scrllup()y
setcur(page,row,0);)}

)

olro
setcur(page,row,col+1);
-~}
dspmid(dchr,a)

char dchr,a;
{ - | .
unsigned curmd;

int row,col;
wrtatt(page,1,dchr,a);
rdcur(page,&row,&col,&curmd) ;
++col; ‘
if (col > 79)

tfeed();
else -
setcur(page,row,col);

3

1



dspup(dchr,a)
char dchr,a)
{
unsigned pos, curmd, row, col;
rdcur(page, &row,&col, &curmd);
/*set cursor pos. to up line %/
setcur(page,row-1,col-1);
wrtatt(page,1,dchr,a);
/*set to old position %/
setcur(page,row,col);
>
/*display down*/
dspdow(dchr,a)
char dchr,a;
{
unsigned curmd, row,cols
rdcur(page, &row,&coly Zcurmd);
/*set cursor pos. to' up line %/
setcur(page,row+]l ,col-1);
wrtatt(page,1,dchr,a);
/*sot to old position */
soteur(pngo,row,col);

Heprsan poat ines/

r
.O)

unsigned curmd, row,col;
rdcur(page, &row,&col,&curmd);
[*set cursor pos: to left %/
sotcur(page,row,col=1);
wrtatt(page,1,32,cl);
} 3
clrup(a)
{
unsigned curmd,row;col;
rdcur(page, &row,&col, &curmd);
/*set cursor_pos..to up line x/
setcur{page,rows1l,col-1);
wrtatt(page,1,32,a);
/*set to old position x/
setcur(page,row,col);
) :
clrdow(a)
{
unsigned curmd, row,col;
rdcur(page, &row, &col,&curmd) ;
/*set cursor pos. to up line %/
setcur(page,row+l,col-1);
wrtatt(page,1,32,a);

‘h i
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‘/*set to old position x/
setcur(page,row,col);

3}

/* clear screen %/
clscr()

{

unsigned lin, lfcorn,rgc
lin = O}

1fcorn = 0} '
scldow(1in,0,0,24,

/%*Clear screen no
clscr2()
4

/vscroll function %/
scrllup()
{ :
unsigned lin, 1fcorn,
lin = 1; .
sclup(1in,0,0,24,79,

/%Printer outputx/
prt_out(c) '

char c¢; -

{ \Z
prtbio(c); Iﬂ
> :

Audineninens
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/%File name: declare.hx/

tdefine MAXLINE 500 ,

‘¥ [#Start textx/

WBRK '~’ /%word break symbolx/
ETAB /*table end symbolx/

#define
Hdefine

LN
.

#define
#define
tdefine
fidefine
#define
f#idefine
Hdaf I na
fidefine
#define
#define
##define
#define
#define
#define
define
#idefine
Bdefine
#define
#define

g#define

idefine
fidefine
f#idefine

EOT 255
RET 13
FEED 10
EOF_ERR
DUP 1
MOD 2
BIN 4
B_OPEN
B_CLOSE
B_INS 2
B_UPD 3
B_DEL 4
B_GETEQ
B_GETNX
B_GETPR
B_GETGT
B_GETGE
B_GETLT
B_GETLE
B_GETLW
B_GETHT

B_CREATE 14

B_STAT 1

13

5

#define B_SET_DIR 17

#define B_GET_DIR 18
#define STSIZ 27
/*symbol table,usefor ;saye fieldx/
struct fldt
{
char ft; /%Field typex/
char x*fst; nf*start positionx/
char *fend§, /*end pos.x*/
char »xfp; I *Point to field name in fstrux/
)
/*data value tablex/
struct datt
(
char dtyp; /*data value type ’c’ = char ’'n’ = numx/
‘char *dst; /xstart data value pos.*/

char *dend;
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) ,
/*Conjunction saved tablex/
struct cjt
{
int cjst; /*start pos.x/
int cjend; /*end pos.x*/
char cjflg; /% flag='Y' = OKx/
} :
" /*Interrogators table(suppanarm chaitarm)x/
struct itgt
{
int itgst; 5
int itgend; ‘
char itflg;
b
/*Transitive verb 1 saved tablex/
struet cvilt
{
ihl Cvist )
e LT TR R
ihl lvlcm]
char tvlflg,
)i
/*vaiables of i&o,first byte is offset val. »*/
char convtabl] = { 32,32,83,46,50,51,52,235,165,54,55,53,
57,191,162,211,187,166,49,47,95, 190,
180,215,219,163,179,169,196,176, 168,
201,454,49,194,46,167,173,17243210,170,
223, 194,227,198, 197 37 228 214 171,48,
175,164,182,226,203,34,41,222,40,184,92,
195,216,56,96,189,217,209,161,207,178,
208,225,193,224,206,199,181,220,183,192,
213,188,200,204,218,202,212,185,221,186,
174,,124; 39; 126
3
/%*combination codejtable saup.offset val,
group size,van offset val x/
char combtabfl =4
217,5,224,238,239,240,241,242,243,244,245,246,
0,247,248,249,250,0,251, 252 253, 254
0,234,235,236,237,0 };
/*type table
start from code alh(161),it up on data in fstcode,
first byte is offset val. .
*/
char typtabf] = {0,
00,13,13,13,13,13,13,13,13,13,07,13,13,
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06,13,13,13,13,13,13, 13,13,13,13,13,13,
13,13,13,13,13,13,02,02,02,02,02,02,02,02,

- 2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,
2.2.2,2.2.2.2.2.2,2,2,2.2,2.2,2.2.2,2,2.
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,
2’2’292’2’2’2’2’2’2,2,2’2’2,2,2'2’2i2’2’
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,24
2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2,2:2,
2,2,2,2,2,2,2,2,2,2,2,2,2,2,3,3,4,4,4,4,
4,4,1,1,1,1,1,1,5,5,545,5,5,5,5,5,5,5,5,
5'595’5!5’595’595'5’5’5,59599 }; /*end at. 255%/
/*end of io var.*/ ’

char gbuff[500]; /xquery buffer%/

char x*qgp; /*query buff.’' pointerx*/
char tokbuff[5001;

char epbuff[5001;

int stack[500];

int stp=0; /xstack pointerx/

int spt;

struct fldt fldtabl[24] ,*fldptr;

struct datt datarr(24]1, *datptr;

struct cjt cjarrl20],*cjptr;

struct itgt itgarrl(24],xitgptr;

struct tvit tvliarr[10],xtviptr;

int datrow = 0; /»* Empty row x/

int cjrow = 0O;

int itgrow = 0;

int tvlirow = 0;

int sexp,eexp; /*start & end of expression ¥/
int querp; /* query pointerx/

/% dgram table.(Data entry gramma table).
{lgram,curtyp,dgtam)*/ ,
char dgtab[541[3]1 = ( -
{1,2,13, 41510577, 1, 12,6 ), {0, 050X, £0,0,0¥5,X0,0,0%}
{2,2,3%,{2,11,7},42,12,6), {040,0},{0,040},40,0,0},
{3,1,2}),(3,2,3),{3,3,4}>,4(3,4,2},¢3,11,7>,(3,12,6),
{4,1,2),{4,2,3),{4,11,7},44, 12 6},{0, 0 0} {0,0,0),
{5,1,5),45,2,3}*,(5,11,7},¢5,12,6},{0,0,0),{0,0,0},
{6,2,3},{6,11,7),46, 12 6}),{0,0,0},{0,0,0},{0,0,0},
{7’2’3},{7’11’7}’(7’12’6}’{_O’O’O}’{0,0’0}’{07090}’
{8,2,1},4(8,11,7}),{8,12,6},{0,0,0},{0,0,0},{0,0,0),
{9,2,1},4{9,11,7},(9,12,6},{0,0,0},40,0,0),{0,0,0}};
/% right gramma table first 3 are seq, 4th is rgram %/
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{2,1,0,2},{2,1,6,2},{(2,2,0,3},{(2,3,2,4}, {2 3,6,4},
{2,3,9,4),4(2,3,1,6),{(2,4,1,7},{2,4,2,5},4{2,4,6,5},
{2,4,9,5}),¢2,6,7,3),{(2,6,10,3},{2,9,0,3},{6,7,0,9},

{6,
char
char
char
char
char
char
char

10 0,8),{9,0,0, 1} {0,0,0,03});

temp[6000]. /*temporay area for display long*/

*malloc(); .

cnflg = 0; /%character mode flagx/
pflg = 0; [/*printer output flagx/
lgram, rgram, dgram;

lmar = 0;

ball,raflg=0,8clflg =0, scdflg=0;

int t1in=0,maxlin=0;
struct getrec {

char grow;
. char gcol;

char gpage;

char x*gdat;

char gt; /*1tem typex/
int glen;

int gdec; /*decimal*/

char gbc; /*boundary. .char, '¥0°

char gcl; /*color*/
char glm;
char grm;

} grectabl[100];
struct getrec *grp;
struct sayrec {
char *mesp; - /*Point to say messagex/

char syrow;
char sycol;
char syatt;
char sypage;

} saytabl[1001;
struct sayrec *sayp,
saycou; /*Say item count,anf flag(O=no)x/
/*File structurex/
struct fstru

int

{

char fnuml(4];
char fnamell16];
char ftypl21;
"char flenl41;
char fdecl2];

int fln;

int fdc;

= no*/
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char *fcp, /*Field content pointer.

(point to data buff)x/

double fval; /%Current field value.*/

)} fsttabli241;
struct fstru *fstp;
/*File manager varsx/
/*Btrieve vars*/
struct key_spec
{int key_pos;

int key_len;

int key_flag,

char not_usell4];

char reservell6];

¥

struct fil_spec
{int rec_len;
" int page_siz;
int ndx_cnt;
char not_use2[4];
char reserve2l6];
struct key_spec key_bufl2l;

>

struct

fil_spec file_buf;

char fil_namel15];

char fil_ext[5] = ”.DBF”;
char pos_blk[1281],;

int stat;

struct
{
char
+ char
char
char
char

struct

st_rec /*record of file structure %/

fnumbl4]; .
fnameb[161];

ftypb[2];

flenbl41s

fdecb[27:};

st_rec st_buff;

char st_pos[1281;

int st_stats

char st_kbuffl[20];

char st_filel151;

char st_ext[B] = " .,STC”;
char keyl[201;

~char data_bufl[10241; /%File buffer,rec.len. not > 1024x/
char edit_buf{2000]; /%Data Base edit/list bufferx/
unsigned cur_rec;

int reclen; /*Record length»/

int totfld; /%Total fieldx/
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char eof_flg = 'T’; /*End-of-file flagx/
/*Editor vars.x/
int gecou = 0;
char bec,cl=7,1m,rm,tm,bm=23,
char *stb,ccol,crow,scol,srow;
char chr,echr,curtyp,ins=0,*ptr,whuff[6001;
unsigned cpos,mlen,rlen,slen;
char ecol,erow,bg=7,page=0,vtyp,ct, epage,vpage;
int vdec;
/*Parser vars*/
int quit(),create(),usel),spec();
int append(),list(),edit() ,delete();
int delf(),copy(),report() ,fo0 to():
int close_fil(),clear() help();
int tok_add[151;
char cquit=1;
/*Csent varsx/

char *sdat; /*Start point of current data valuex/
char xoedat; /*End point/of previous data*/

char negf; /*Negation flagx/

char ltoke; /*Token of logical opt.%/

char defflg; /*Default field flag. 'l = can defaultx/
char odtypi - /*%01d /data value typex/

char ofpname{16]; /*01d field namex/

/*Expression parser varsx/

.char *chrp;

char -tbuff[201}];

char *token;

char *opr;

char *opt;

char toke_type;

- char toke_no;

char posfixb[2561;

char *posf;

char serr=0;

char perr=0;

char t1[20]%

char *a;

char t2[201];

char *b;

/xldentifier tablex/

struct id_rec {
char id_nol31;
char id_typ; /%F =field, C = constantx/
char id_dtyp; /%C = character , N = numeric */
char id_len;
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char *id_add;
double id_val;
} id_tabl[501;
struct id_rec *idp;

int idcou; /%¥Point to empty elementx/
char id_buffl[10241; /*String constant bufferx/
char *idbp;

%= * /

struct toke_rec {
char *tword;
char ttoke;
} toke_tab[] = { {’)AND"""’},{"QCL",""},
{”OR’,, ’n'} ’{'!HA¥J”’ 'n?}’
{”NOT!', 14 ! ’},{”T?‘ ”, 1 ! ,)’{”¥0',, 'YO!}};
struct toke_rec *trp;
/*0perator stack»/
struct opt_stack <
‘char *opt_sp:
} opt_tab[501;
struct opt_stack *optsp:
int opt_cou;
char opt_stbufl[1024];
char *opt_mem;
/*0Operand stackx*/
struct opr_stack <
char *opr_sp;
} opr_tab[50];
struct opr_stack *oprsp;
char opr_stbuf[1024%:
char *opr_memn;
int opr_cou;
[ R End of exp. pars. vars.—-o—r-——————- */
/*Expression evaluationsvanrs i/
struct val_rec {
char otyp;
char ologic;
char *oaddy
double oval,;
} val_tab[50];
int val_stp;
struct val_rec *op;
struct val_rec *op2;
char typ,log,*add;
double val;

int pop_val();



151

char *stpblk();
/*Parameterx/
‘char pbg=0x0f,pcl=0x0f,ptm,pbm;

- Augineninens
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char *hmes|]
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/*Thaitab.h»/
/*Date 4-29-86%/

struct tok_rec {
char *keyword;
char token;
} tok_tabl] = {
”(”,60,”~",0,”=",61,”~”,0,”>”,62,”~”,0,
"!uaﬂqn,75’n~n’0'nqq",124’n”",0,
"RL.UKRTT 7,124, "ALUBYY L 124, AU 7,
124,”7A.u”,124,”777,0,
"4 .8R.707,86, "0 U”, 123, 77 0,
"8a.17,124, 7457 ,124, "daN7 122,777, 0,
"ADUT 17,124, 7R0DU%, 124, " RLDNNI5T.07,
124,”R.DNN15",124,”7”,0,
- "UBna Y, 124, "usn”, 1247 u5590499.,17,
. 124,7uss5418a”,124,”7”,0,
"lﬂeﬂﬂﬁﬂﬂu”,70,”laeﬂ”,70,?lwa.N”,74,
"lﬂaﬂuNyN”,72,"lNﬁ3.1",124,”[”8",124,
71dUDY 1", 124,71 §ud”, 124,77 1m N5, 125,
"1da DIR”, 125,711 10.U",61,
”l” .']ﬂwU”,Gl ’n“‘n,o’
"UNL1U”, 76, "UN NS HaR”,T6, "UERITATIAT L 1N,
73,7UdRN7 17,124, "UdRN", 124,
"UR.NT 017,124, 70N, 124, "UAY”,34,77" .0,
Mine 7,81, 717,81, "Maw™, 125, " Hi™, 125,7~%,0,
"TMeRLUT 17, 124, " IRLRLI87, 124, 7987, 125,
"1857, 125, " T8 . 0.DNR”, 74, " i U0, 72,
vnNn,O, ‘
”ﬁﬁuﬁﬂﬂﬂyu",71,"ﬁﬁ»?ﬂ”.71,”ﬁﬁlﬂ11ﬂ",
79,"dUN”, 79, AR U"; 104,277 04
”7ﬂﬁﬂﬁﬁ»1ﬁ”,73,”ﬁﬂﬂﬂﬁp”,101,"~”,0,
"NUHNuN",78,"NUQD",84,"ﬂuﬁﬁaﬂ",84,"NU”,77,”7",0,
”Wa.ﬂﬁu”,125,"ﬂa.qﬂ",125,”ﬂa.",122,""W3ﬂﬂQWU",
80, "NVIN”, 125 "W NGNaT 103,
"NEIU0 7, 124005070124, T L0
”417847U”, 80, "9180719%~ .7, 100, "5101n115 "7,
100,”59%,7 .1”,124,”79v,.”,124,”7”,0,
"AuAMU”, 102, ”00R”,102,777,0,
"Using”, 83, "URlW.N",82,"7" 0,
"N1427 17,124, 780U 087 .17, 124,
"N17.47,124,”87007 47,622,777, 0,
"U.3807.1”7,60,”77”,0,
anda"’BB,n~n’o’
"pr158”,125,”7”,0,”uUN",123,”%",0,
"RaBoU”, 123,777 ,0,"R,U",123,"7",0);
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struct tok_rec *tokp;
struct commkey {
char commch;
int commadd;
} comktabl[]l = { ’'<’,0,’=",2,
'3',8,’R°,10,'d’,15,°4’,18,
ut,27,’17,32,'0’,45, ',
66,’9’,72,’/’,75,'n’,80,"° ™
'N’,95,’U’,98,'8’,101,°'u’,
110,'u’,112,’R°,114, '3’ .

struct commkey *commp;
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